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INSTRUCTIONS

There are 4 questions in this paper.

Complete all 4 questions

Marks for each part of a question are indicated

All necessary working should be shown

Show your working and answer clearly in the spaces provided
Approved scientific calculators may be used
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Luéstion 1
a) Simplify egch of the following b collecting like terms PAS 43
i 4x+3-2x 1
& i
R @ 8P +T7x-3x |
PAS 5.3.1
(i)  5pg*-p’q-2pq* - p’q+pg .
/
b)  Expand and simplify the following where possible /' PAS43
M 302m+4) / 1
:7
| PAS5.2.1
i o (a’ + a) ll 1
PAS 5.3.1
i)  2x(4x—5)-6x 2
i PAS 5.2.1
3

(iv) n? (m+3n2)—n7' (m2-7)~} o

E

{




Question 2 /12
a) Expand and simplify each of the following binomial products PASS531

(a+b)(c+d)=a(c+d)+b(c+d)

=ac+ad+bc+bd

@  (x+4)(x+3) | ' 2

@ (3r—8)(3r+8)

| 2
|
i
s 2 f
(i) (p-5q) |
X 2
b , PAS53.1
@ (x+3) -9 x? . .
3
; PAS 52.1
@ ayy-5)-(-2) ] -

Question 3 19
a) Factorise and simplify where necessary PAS 4.3
i 18x-9y 1
PAS5.3.1
ii 249
@i . x 1
|
iy 24 : PASS5.2.1
4a+4b - 2
2 2 PAS 5.3.1
(iv) 9m°—4n |
' 2
b) Factorise the following quadratic trinomials PAS 5.3.1
(@) X +13x+40 : 2
! I #
() 2x°-2x-12 |
: 2
1
l
Gi) 2a°+5a-12 s
i
| 7.
L /
N /
. /
/
4 —




©) 2
Factorise and simplify: =9 X Sxtl2
e x+4. x=3 3
| g —
|
1 )
d
) Simplify the following: ——— 3 PAS5.2.1
y=2 -3
p 3

|

|

Question 4

~~——_____ Factorise and simplify the following
- a*+3a+2 ) 2d*+7a+6

' - _a=5_ a'-4a-5
|

I

!

|

p ¢ End of Test
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Question 1

/12
a) Simplify each of the following by collecting like terms PAS 4.3
@  Ax+3-2 1
23
) 8x*+7x-3x* Sx 4~ 1
PAS5.3.1

T
5pa® — piq—2pat — pPa+ Spg ~?_97'Ci P
(iii) 5pa°-p'q-2pq Pq‘ Pq i I Yﬂ, 1

b)  Expand and simplify the following where possible

@ 3(2m+4)

@) a*(a’+a)

(i) 2x(4x-5)-6x

Q?W\‘\‘\l

Y
W

Yot -1ooe ~bx
2t ~\ba

PAS 4.3

1

PAS5.2.1 &zé

1

PAS5.3.1
2

‘ A v 1 + 2 PASS21
@) m’(m+3n’)—nz(m2—7) A *‘3"" n_=n v 720

7 -;5(5-%)

:MB A lmlv’\z‘\'.—}mz’

bx w2
2 T a2X

= X — 4

~2

¢ )

Question 2

N
§

a)

o . g /
Expand and simplify each of the followin -

g binomial products

!7z+b)

(c+d)=ac+ad+be+ba

: PAS331

® (x+ 4)(x+ 3)

()  (3r-8)(3r+8)

(i) (p-5q)

2" v 2504 Ax x\2

: ?(f 1

2
A A AN\

2 Get G4

T
0 - \D?QV AL

2

‘® (x+3)f -9

@ 4y(y-5)-(y-2) _43""- 20y ~v 2
~ U

PAS 5.3.1

g"f"i G20 A Q(J-S\ -5l *
o= 1@9@'

PAS 5.2.1

3

-~

= 4'H1~1\\4 +2
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Question 3 , , | _ 120 ¢ . Le X =9 3x+12
a). Factorise and simplify where necessary : PAS 43 Factorise and s1mpl¥fy. x+4 * x=3 3
| : (&:2) Gea) L BGert) |
O 18x-9y al _23L~:_\)) 1 ek YR
| PAS5.3.1 - 3-(x+3>
@) x-49 loe =) (7L~"D )
Eru
(i) 3a+3b A [ osls ) PASS5.2.1 5 - -
4a+4b -~ 3 2 Simplify the following: —— - ——— PAS5.2.1
~ = -2 y-3 s
) 5(3—3}‘ 3(3—2-)
. = [ Y
Gv)  Om?—an? PAS5.3.1 ,)‘ = Qluz_ ) ( U,“s )
S 4 enN) = -
i . | = E\j ~\35 - 33 +~
b) Factori‘se the following qﬁadratic trinomials PAS 5.3.1. . ‘o . ( t‘, -~ ’L) ( \j - \)
() A+13x+40 2 Cx+5)(x+‘s> Pz Ao 2 ‘ = 2"\“0\ :
5=13 C3~1)'(«()~3>
@ 2¢-20-12 = 2(xV_y () P,

, ’ :7.(3(;%) ( 9&*?/\, , S: -\

(i) 20*+5a-12 = 2t A Ba-da-\2 Q:-’)_Af s
| = 2alas 4) - onsa) S=5 | «.
= (Q0-2) (g 4\
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Question 4 /6

Factorise and simplify the following PAS 531
@ +3a+2 2a’+7a+6 §

a-5  a*—4a-5

G+ c\%— Lg_/zs‘}(c\+\>
L= * CMS[.ZQJ\\\

Wore ©  2a*+Tare = da™ +ha +2axb Pz
="

S
= 2al 5‘42)* '{(a-(-z,)
=z CZG +(5>(a4—2>

! ;\-\—\}L

PAZESEEN

End of Test




